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1. Which of the following statements are correct?
& 806 TBS” DD DB LIS ?

i) The state of Andhra Pradesh has 13 districts. es0g803% m;goeb" 13 2gren o
i) Prakasam is the largest district in area. Z)‘?ggoée Q%0 Ber 5’@@.
i) Nellore is the most populous district. Jurd &S axrer $OAD Ber

iv) Anakapalli district is in Costal Andhra region. 85708 2er E3rog Jrodo &° o

A) All statements are correct @) HIBTeD DJDD

B) Onlyiiand iv are correct ii 00030 iv AP HDBDD

D) Only ii and iii are correct ii OO iii AIPGD DIID.
2. Identify the title of the famous freedom fighter in the following photo.

& 8060 e5°S°D A 5"5&0@5 RBVGAPEID INE), DA (oSl
A) Iron man of India e3°8&3% &S0 PobNTe B) Father of the nation 2&a>es

C) Lokmanya &swq D) Deshabandhu &%exocsd

3. Why the “Naatu Naatu” song of RRR film, is in news recently?

RRR Dgoe5" “mrén Jren” Jre) @300 ot g’ DDD0s?

A) Got award for Best Origninal Song at the Oscars 2022
2022 e53) 6 0G0 BY 2,023 Foft DerriosS’ 0E TobDHokoDd

B) Has won the prestigious Golden Globe award for Best Original Song.
B 2,083 Joh T YIS E FSS S 0°g> FentiddR) 06

C) Because it became the first Telugu film to be released in all languages of the world
0505 ) P’ DEEGH 9 Benrd Do ™ DODDED
D) All the mentioned are correct 8) QG @) 08 DJID
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4. Who is present central Education minister?
QR0 S0 LT 3008 DD ?
A) Dharmendra Pradhan &8),08 9&°Q B) Raj Nath Singh o°& & doh

C) Smriti Irani 2,8 @T° D) Narendra Modi &80g 3¢

5. Toll free number 1950 is associated with which of the following?
€5°65 3 90206 1950 905 S08 T*S° BIS 1oL0BODHE?
A) Child line 36 S B) Voter Helpline &6 325y 6
C) Aarogyasri Help line 9385(5753 Zréb & D) Disha Helpline &% Zréb (3]
6. What is the present Telugu year name ?
DR0S B VodSyBo DG A0 ?

A) $230 Prabhava  B) #0gs€ o Subhakritu | C) $°zsgyc0 Sobhakritu D) esgos Akshaya

SOCIAL

1. How much is the universe expanding every second ?
DB VB VEL Jodh BL TFEDR0R?
A) 60 km B)40km | C) 70 km D) 50 km

2. The region located between 15° to 30° North and South latitudes on the western margins of the continents
is called as

15° J00& 30° 636 08030 B4 WSPoTV 0655, POTPO D3N Ao’ &) e H08) FroTPLRD DVoErE?
A) Steppes Raxyen B) Deserts ozedden
C) Savannas DOT) e D) Mediterranean Qoesgesoe

3. Who first started to draw maps, by using latitudes and longitudes?

RIFTOT, BP0 KPS DEFPLRD D) DD SATTEBID ?
A) Sumerians LABAR B) Babylonians wei’)éei)ojo@o

C) Greeks Hgoen D) Romans 8o
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4. Sonu is drawing a thematic map of different lands. He used light green for one theme.What this refers?

QL0 B8P0 VL V0e20BEDD DD A0S HErJ) AT €. 0B 208 DO DBOSEEIS T €98 DIy Borbdad
TPTRERd. 090 BAN DITPI0R?

A) Waste land g8 gioraoen B) Grass land ¢ig g3sooen

C) Aagriculture lands 835&‘)5"05.) EASSS OIS D) Forest ea¢tsen

5. Who voyaged across the globe first?

£00t50 DG W SN DD B DdC?

A) Vasco-da-Gama absf?b-a-mm B) Magellan sr2erdS

C) Columbus Seoerd D) Amerigo Vespuchi eo2068 DRND
6. What is the false statement about Qutub minar?

3085 TE £ K020HON) LB PIBD0 AA?

A) 74.1 meter, four storied marble architecture

74.1 20, Trerh osien FUTS Qo

B) South entrance of quwwat — Ul — Islam Masjid

20I(E-6S-aFro VG A, B4 TG0

C) Dedicated to sufi saint Qutubuddin Bakhtiyar Kaki

A2 DTFR 9000 LS0LAD FZIrE 5788 3BT

D) Constructed by Iltutmish

RS €185 2 B SRotred.

7. Match the following So& o°Q 228606308

1. Tarain war A) 1316 AD
33D osugo $.%.1316
2. Retook of chittore B) 1398 AD
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Qa6 ABH e3Eotscto &.% 1398

3. Timur’s invasion C) 1192 AD
B8 Sociasrd 4.3 1192

4. Establishment of Mughal empire D) 1526 AD
0008 J Qg gv:m 4.3 1526

A) 1-a 2-b 3-c 4-d
B) 1-c 2d 3-a 4-b
C)1-d 2-a 3-b 4-c
D) 1-c 2-a 3-b 4-d
8. A) Horses, Donkeys and camels supplied ammunition to battle field.
AOTPD, TPGERD OB 200630 e3ARVTPLORD omg Bom8 BEDDD.
B) Dogs and Pigeons are carried messages.
) 0 208030 FeDHTD TGO BEDVD.
The above two sentences referred to which kings ?
2 Bocd Tosehew 2 Toerd Vo0V ?
A) Kakatiya’s sc&&asoen B) Mughals 2003000

C) Vijayanagara kings Dz:03¢6 oreren D) Tughlugs €o¢§ en

9. At which place sher - shah defeated Humayun in 1539 AD?
§.% 1539 & 0Br0O D 2P D FodbosS® Lidomrd ?

A) Panipat ¢5 B) Chausa &*&r C) KanaujsS& D) Delhi &®

10. Match the following $o& & 2290650c.

1. Sumant Qw&00d A) Prime minister 9500 Q0o

2. Wagia-i-navis S9as» — @ — 3D B) Foreign minister &dzrors 00

3. Peshwa 3rg C) Secretary s°65¢30y (ge:8)

EEMT 2023/MAINS/CLASS VII/31.01.2023 www.educationalepiphany.org eemt2023@gmail.com



http://www.educationalepiphany.org
mailto:eemt2023@gmail.com

4. Sacheev 2D D) Home minister 5% zra3 2008
A)l-a 2b 3¢  4d

B)1-d 2-b 3¢  4-a

01b 2d 3-a 4c

D)1-c  2-d 3-a 4b

11. Match the following o0& o°8 286808

1. Chaitanya Mahaprabhu BBDY SO L A) Assam e.ob*bo

2. Shankara dev %086 &o B) Karnataka Sjegl S

3. Samardha Ramadas dg TPOT®R C) Bengal &orres

4. Basaveswara eo:oéésci)céa D) Maharashtra éo::ﬁo"@
A) 1-a 2-b 3-c 4-d
B) 1-b 2-C 3-a 4d
C)1-b 2-C 3-a 4-d
D) 1-c 2-a 3-d 4-b

12. 1. A Poet, Play writer and Social reformer. €9, T°¢)8 Gcdoed 00300 LoD 20R), 8
2. Founder of Nam — Ghars. ‘oed 06" © g*’:osocio :

The above two lines related to which of the following person?

2 Boch Tesvfen & 8o& @ H18S Woe0oBEDD ?
A) Gnaneswar §°5"°'§5 B) Namdev =es0dod

C) Shankara deva #o86@s D) Chaitanya Maha Prabhu DD Q0D L0
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1Q

I
1. A~m= 3

A X m=27 then(®ond) A — m=?

A) 80 B) 90

C) 100 D) 110

3. Which of the following dice can be formed by folding the following figure?

€5 $005 RDLLIGR DEBVRD LI LB DBNE PR FDE (HBocsod:?

" ﬁ )
0 h‘ﬂ )
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4. P is Q’s brother. R is Q’s mother. S is R’s father. T is S’s mother. How is P related to T?

P, Q 3B08), FP60ed, R, Q c3og), 39, S, R a3g), dog, T, S cBog); 38 9000 P, T a3og); Q9.
A) Granddaughter &oosooren B) Great grandson &0 0808060
C) Grandson s2a00¢ D) Great grand father oo

5. Pick odd one out

QAT €5 AR (bocdod

) @ ’ @

C) @ i @)

6. Which is the seventh letter to the right of the middle letter in the following sequence?
& 300 33S” 0¢85 LTS HAPDN €60) 7 D VLT oSl
AETOPMTTOSTPBHERSHT

AT B)S

C)R D)B
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SCIENCE

1. Which of the disorder condition resembling Vibandha in Ayurveda?

4.

800 YRV’ D T5 3050TLB0ES D Derogd 0 VY eod?

A) Marasmus b.)o‘roéfo B) Constipation voegso
C) Kwashiorkor 5‘521033‘(565 D) Obesity ;épos"od)eéso
. In the following, what is the example for Synthetic indicator?

& 800 TPS” EyAH WIAE & STETCE DO ?
A) Methyl orange Qo@e5 es60&  B) Litmus @eo&fo C) Hibiscus Zgaﬁ?obi) D) Onion &dJro

. Which of the plant is called carnivorous plant?

$00 ToES® JIPoIFG D008 ?
A) Dodder &*&6 oY), B) Mushroom @eegﬁ"cfo(’o
C) Drosera g0 D) All the above 25y

If a light ray fall on the plane mirror along with the direction of the normal, then the angle of

reflection will be ?

28DV 208 50BSCER0 VABO BBEI0 D V08I0 ATV, BF Do.IC, DEILYONB , WHED VT°DED

£630 DL0MHXL?
A) Acute angle 800 &0 B) Obtuse angle & &eso
C) Straight angle ©6% &0 D) Right angle % a0
5. Identify the correct statements of the “villi of small intestine”,in the following sentences.

808 TEgRS” D) BAVES" o WIVEVL 100G VG VIV ool
i) They have very thin walls @ 2y Fcten 800

ii) They have a network of thin and small blood vessels close to the surface

T8 &DOSBV0 2 VD) ), W) DI FET VL0 DVUPTT €:05°000

iii) They have small pores through which food can easily pass

e53386 DTPTPRD TS ToedS D) DR Gogren €oeTom.
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iv) They are finger like projections

D D%y Hotd Jo°y Eren

A)i,iiandiv B)ii,iiiandiv C)iii &iv D)i&iv
6. Among the pairs which one is wrongly matched?
& 300 BSOS’ BT 2SDOBLIGOE JDOE?

1) Cockroach a?gos — Trachea sra3ory :355578

2) Earthworm aeae00 - Skin SRS

3) Frog - Lungs &2008¢0e0
4) Fish &% - Lungs &22008¢0e0
A)1&2 B)3&4 C)4&1 D) 4

7. Which of the following is correct?

800 TeES” DO DOIG ?
A) Speed = Distance X Time tfo = &80 X S°00
B) Speed = Distance / Time o = &G0 / SP00
C) Speed = Time / Distance (3o = S°00 / &rGo

D) Speed = 1/Distance x Time o = 1/¢&G0 X S*00

8. ASLV means  ASLV e
A) Aeronautical satellite Launch vehicle 83865 TGS erod DerseS
B) American satellite Launch vehicle 92088 3G erod s

C) African satellite Launch vehicle €338 3°€3G¢5 erod DorEeS

D) Augmented satellite Launch vehicle e o&3& FEGE erod Do
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9. By which principle, an electric fuse works?

2 ATBo TG DS 137°§E D BR06

A) Heating effect of current 8’.)633735 aB0E), &R 000

B) Chemical effect of current K)cﬁ.)5e5 B8, SaAND HOGo

C) Lighting effect of current 3)66355 ABE); 570 P00

D) Magnetic effect of current 3@55 B8, woéobvboé 200
10. Which of the following is correct? $o& T°Je5° DBIG AB?

A) When acids react with salts give water and salts

337700 VIS SB[ 200 A SO0 VOEPOR BFAD .
B) When bases react with salts give water and salts

TORD OIEPOS S6) 202 DG SO0 VDEPOL RO .
C) When acids react with water give bases and salts

3337w IBS S6[ 20D TTLD O0KL VIFFVH FFOW
D) When acids react with bases give water and salts

B3P TOOE 56§ 202 AW OO0 VBEFOI RF°OW

11. Find the wrong one
ST 6:0) T8 (bocdod
1) Bryophyllum &eaare - Epiphyllous buds ‘é)g‘:'f&)bf’qo)eé Soesren
2) Amoeba eooes - Fission QNS
3) Hibiscus &ooad - Ground layering Qe €906
4) Yeast éaga) - Binary fission &‘Sc;";’)é)bejg

A)1&?2 B)2&3 C)3&4 D)1&4
12. How many images are formed when the angle is 0 ° between two mirrors ?

ot c56yEPR 68 E'v0 0 © 09000 ByE 2BDoere owy?

A) 18 B)O C) 2 D) o
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13. Which types of mirrors are used in curved roads?
S0XDRD DR BEPTEEVES EDAPAY SEyETeD I ?
A) Small convex mirrors z',’)eég' o258 cédbww
B) Concave mirrors $)ersed 3G ERD
C) Large convex mirrors 23606 85023°5°Y csdbww
D) Plain mirrors dadoede csdbs'a"w
14. Which one of these is not a good example of oscillatory motion?
& 306 IS’ DO Ed BSOT IS VTR &TErEes S°ed?
A) Motion of the hammer of an electric bell Z)C,So5e5 (90£3€5° 20 G308 R
B) Motion of our hands while running ‘o’obﬁg‘}eo‘@bci) A0 W Sdo
C) Motion of a child on a seesaw 2,8 &3¢ 209 ¢ DTG B, o
D) Motion of a horse pulling acart  e0o& PSR (o A0S, Lo

15. Which of the following metal is used in thermometers as it is easily available in pure form,
opaque and expands constantly?

?ostﬁ‘)@é Bor0e5° LueZsore oangaa)@w, Q‘)ﬁ“déd;éoﬁ" €50825° 0003 JFothBo DB
& 300 & &' BB e VS’ EDAPAFD ?

A) Bromine &’ B) Alcohol 93&)25:3595 C) Mercury P66 D) Iron @080
16. Images are inverted in Pinhole Camera .What is the reason for that?
2 5555 8:200°¢5° 3D 0L BIG0RILITT 00N, 57630 DAL ?
' A) Light travels in straight line 5708 6% Sa3° g0’ LAIrE300

B) Hole &ogo

C) It is natural @Q DLPRLIO

D) There is no specific reason oerotd Z)gg 530 TV,
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MATHS

1. After 240 liters of water were poured into a tank ,it was still 40% empty. How many liters of water must be
poured into the tank in order to fill it?

28 e3°50§ S° 240 O| | DB V5 BT QoEIT 40% D 0. IOVD 95"505 R0 QPO Do RoSIT
DPODVD DB Joh?

A) 400 liters B) 160 liters
C) 200 liters D) 280 liters

2. Ifa=ixl andb=L

22
T X5 T X3 then the valueof 2a+b=.........

_4 7 _ 6 22 _
a—?X?DJCOiD b_TXT oS 2a+b=......
A) 6 B) 8 —

C) 2 D) 13

3.What is the difference between 1 % and its reciprocal?
1+ 208050 & ;S8BT Scso Jod ?
1 1
Al 835 B) 75

39 1
Q) 2o D) 1=5

4. In the given figure x° - y° =

“é?t:)‘)?é $82085° x° - Vo= tiiiinns
A) 65° B) 45°
C) 50° D) 55°

5. The ratio of the length and breadth of a rectangle is 5:4 and their perimeter is 90m. Then find the area of
the rectangle.

BGSBCR T, Dy S 5:4 0050 T o Eodb 90 . oD

T° PT°VJ0 DoS?
A) 250 m? B) 500 m?
C) 90 m? D) 900 m?
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6. The average of three numbers is 77. First number is half of the second number and second number is half of
the third number .Then find the smallest number among them?

B07°¢ VogR) VTR0 77. are3e5° K085 Tocisd Doag &5° Y0 208030 BolS oy S0rE SEES &S° Yso
29000 T3S’ D) Doy does?

A) 30 B) 33
C) 32 D) 38

7.1f 9*+ 9°'= 90 then find the value of x =.........
9+ 9*'=90 oD X =.........
A) 1 B) O
C)2 D) 4

8. If the complement angle of an angle is one fourth of its supplement angle .Then find that angle?

28 Eed0 AIE), 2768 E'c90 T W03IPSE E'000d 1/4 Hodd 60 B. D &8 E'rao Dewd Jods ?

A) 40° B) 30°
C) 100° D) 60°
9 If (=P x (= = o= then x° = ...ococvce
(%)W(%)ZX: ;Llie.‘)oooéx3= .............
A) 27 ) &
C)9 D) %

10. The arithmeticmeanof x, x + 3, x + 6, x + 9, x + 12 (x>0) is 10. Then the median is
x, x+3 x+6 x+9, x+ 12 (x>0) 0 08 563 it 10 900S STro? sboc_szg(ﬂéo doh ?

A)9 B) 18
C) 27 D) 10
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11. What is the reciprocal of the arithmetic mean of reciprocals of 6, 12, 18 ?

6, 12, 18 © Ao Drien GIE); HJGa00 Jodd ?

11 9
A 35 B)93T
4 5
C) 5 ETE D) 2 5
12. x is the smallest fraction of%, % and y is the smallest fraction of %, %then find x+y

X 90O % % s i)é;)' 3:)?6‘10 Feblolo s SURVELINUENTA) %, % oS’ :Z)éi eﬁé‘lo, WOVI X + Y =........
A) 3/5 B) 2/5
C) 9/10 D) 9/11

13. In a bank the 2 rupee coins are 2 % times of the 5 rupee coins. If the total amount is 240 rupees. Then find
the number of the 2 rupee coins?

832408 D0C1 5 I TPBIVVL 2 % Bé 2 E° TPEBA0LD S0, T 2000 Ded 240 G 9O 2 I T8V

A) 60 B) 24
C) 32 D) 56

14. Interior angles of a triangle are x — 5°, x + 15° x + 20° then the ratio of angles is
Ao osds Seren x — 5° x + 15° x + 20° e9od &3 Sere DD e

A) 2:3:4 B) 4:5:6

C) 4:7:9 D) 9:13:14

15. What will be the additive inverse of A if A =% - % + ==

18
2 4 5 y
A== — o+ E@@éAo&nS&aoSoéDé‘mo
7
Ty B) — 3¢
3 3
SheTy D) -5
16. In the given figure AB||CD then x= A B
0E),000S° AB||CD 9005 X = ........
A) 150° B) 100° X
C) 165° D) 155° ¢ b

17.Value of 75-[40 = {8(6-6 — 1)}] =
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75— [40+{8(6-6 — 1)}] DD = ...v.....

A) 85 B) 65

C) 70 D) 45
18. PMT, OOS, NQR, MSQ,

A) LVP B) LVR

C) LWP D) LUP
19. 6% of x is 7.5 then 36% of x is =

X o&néb 6% Dend 7.5 ond x oansb 36% DD doh ?
A) 36 B) 54

4 D) 42

20. The ratio of girls and boys in class is 2:3.0n one day when 15 boys were absent, the total number of girls
were 5 more than the number of boys. What is the strength of the class?

208 360 &° e DELD LOOKL EPLOE VD 2:3. 8 Fer &2 SEAAS™ erendOS” 15 od
FETR HPLEID DB DL ,e7700 Eot3 5 ol I D LAIFHED . WOD BBHS &S°
g0 Iy Dogdy Hodd ?

- &)
A) 20 B) 70
C) 50 D) 80

SSSSS55555S
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